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1. x=15% F=30kg S=60kg

25 B— A O
0.933 0 0.067 0.023 0 0.977
0.88 0.051 0.069 0.036 0.038 0.926
0.84 0.088 0.072 0.050 0.073 0.877
0.782 0.138 0.080 0.072 0.125 0.803
0.721 0.184 0.095 0.104 0.181 0.715
0.65 0.231 0.119 0.151 0.236 0.613
0.557 0.279 0.164 0.236 0.287 0.477

(DE R x vy

(2) ka B

(1) M=S:£: F = 30 —E M
FS M F+S 30+60 3
M , R E
X, =006 vy, =0.046 RE =8.35cm
RM =5.95cm
E=m M
RE
R=M-E
Ya
2) k,=22
(2 ki, X,
yg Xa
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0

Bz yg XA
1-vyy/ 1-x5

2. Xi F=100kg, S=80kg
1 E R Ya  Xa
(2) EO RO yAO XAO

s 8
FS M 100+80

@

FS=4.6cm, ..FM =4.6x0.44=2.04cm

2 x=0.29, xa°=0.16  yA°=0.77

F=E°+R°
Fx, = E%) +R%x}
E°, R°

3. F=100kg t=25  x=0.2 xa=0.1

(A)— (B)—
ya=1.356x,2%"
ys=1.618-0.6399¢*%
Xs=0.067+1.43x%%"

1 R E

2 'S
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1 XA:0.1
ya=1.356x,%"=1.356x 0.1"%*'=0.0854
ys=1.618-0.6399e"%%,=1.618-0.6399¢"
ys=1-ya-ys=1-0.0854-0.862=0.0526
Xs=0.067+1.430x 0.1%%%=0.0746
Xg=1-Xa-Xs=1-0.1-0.0746=0.825

S+F=R+E
Fx; =Rx,+Ey,
S=Rxg + Eyq
R, E
(2) SSE+R-F
4 A—  B— ©
E:3:1:1
F R
XA2

AT}
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t=25

.96x 0.0854_

0.862
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Xf:0.4
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1. F=100kg w1=29.9% N&SO, 10H,O t=20 w3=0.176
W=2kg
m
M Na,SO, — 142 M Na,SO,-10H,0 — 322
W, = 142 _ 0.441
322
Fw, =mw, +(F -W —m)w,
m
2. F=100kg w;=0.377 W=3.5kg ;=20
w3=0.233,r =68kJkg, Cp=2.9kJ/(kg- K),r =2446kJkg
t1
Q=0 Wo=1
Fwi=mw,+(F-W-m)ws;
m
Wr =mr +FCp(t1-t3)
t
3. BET -195 N N2
p/kPa 9.13 11.59 17.07 23.89 26.71
x/mg/g 40.14 43.60 47.20 51.96 52.76
p°=111.0kPa  A;=15.4nm?
a
BET
/ 0
p p - p/ pO
x(1-p/p)
p/ p° 0.08225 0.1044 0.1538 0.2152 0.2406
p/ p°
—————-  0.002233 0.002674 0.003851 0.005277 0.006005
x(1-p/p)
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0 0.12 0.24
plp

B=0.02373
A=2.284x 10™*g/mg

— I\IOAOXm
M

4. =20  D=02m L=06m x=—2¢ s kg  /kg
1+417c
c—kg /m p =1.2kg/m® ;=0 c;=0.0lkg  /m

p s=600kg/m® K;ae=10l/s ,=30m%h

x=x,+ 2" %2 c_¢ )
C,—C,
¢ = 0.05¢, = 0.05x 0.01 = 0.0005kg/ m®
Cs =0.95c, =0.95x0.01=0.0095kg/ m?®
104c 20c

X=———"e =20C c-c,=Cc————
1+417c, 104—8340c

N = jcs dc J-o.0095 dc
of Co c— Ce

0.0005 c 20c
104 - 8340c
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o G
EDZ
4
u
of =
KfaB
I‘O=Hof 'Nof

T =M(L—O.5L )
° (Cl_Cz)u ’
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1. t=30 P=2kPa
0 50 30 18 10
50 P=12.3kPa 30 P=4.25kPa
18 P=2.08kPa 10 P=1.23kPa
At A Ph2o
2. P=101.3kPa t;=25 tw1=20 0 =40 Z=00
1 01
2 to H»
1 0 .
0 =t
2 T
t2=9 2:40 Hs
40 P=7.38kPa
~H=H4=0.622 Ps
— s
3. P=320kPa t=30 tw=24 — o /ky=17.4KJKg-
H kg /kg
24 Ps=3.0kPa, ry=2436.4KJKg
H, = Mo Pu
M H, P—-py
H=H, _olt—ty)
Ky -y
4, P=101.3kPa t;=30 tw1=28 t,=10 tex=10
1 W kg /kg
2 t3:30 tW3

53/ L

28 p=3.82kPa r=2434.8kJkg
10 ps=1.23kPa

H, = 0622 P
P-py
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1.09
H1 = HW __(tl _twl)

w

H,=Hg, =0622—Ps

P - psg
~W=H,-H,
2 H3:H2:0.0076kg /kg
tws=18 Pws=2.08kPa ry3=2451kJkg

Pws
H,,=062———
w3 P—p,.

I
tys =13 _1_\6/9(Hw3 -Hj)

tw3
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1. t1=27 tq=22 t,=80
P11 Py
22 2.668kPa
27 3.6kPa
80 47.38kPa
P
¢, = —
S1
Py
O, =——
’ Ps,
0 O, —Q,
0,
2. t1:65 tW1:4O t2:25 P=101.3kPa
W  Q
40 7.375kPa r=2401kJ/kg
25 3.168kPa
H, =0622—Pv
P- pw
1.09
Hl =H w _r_(tl _twl)
H,=Hg,=0622—Ps
P-ps

W =H,-H,
|, = 1.01+1.88H,)t, + 2500H,

|, = 1.01+1.88H,)t, + 2500H,

Q=1 17 I 2
3. P=100kPa

kg /kg kJkg

kPa
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80 40 0.0319 11.0 165 4.8 32.5
60 35 0.026 20 125 4.1 29
40 28 0.020 43 95 3.2 25
57 33 0.024 21 120 3.7 28
50 30 0.0196 25 98 3.0 23
4. ;=80 H,=0.01kg /kg W =0.1kg/S 6 =30

V =10kg IS
1 Al
2 t
3 Al t

1

Al =W ¢ 0/V =0.1x4.18x30/10=1.25kJ / kg

2 I1+A =1,
w 0.1
H,=H,+—=0.01+—=0.02kg /k
2 1Ty 10 g g
- 1.01+1.88H )t, + 2500H , + Al =(1.01+1.88H,)t, + 2500H ,
1.01+1.88H,)t, + 2500(H, — H,) + Al

o 1.01+1.88H,
3 Al 1y=l,
1.01+1.88H,)t, + 2500(H, — H ,)
: 1.01+1.88H,
5. =30  t¢=20 V =1000m*¥h W=25kglh ;=60  P=101.3kPa
1 t2 H
(2 o,

1 20 Py=2.338kPa
Pd

H, =0622

d

v,y = (2.83x107 +4.56x 10 H, )(t + 273)

134
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Vo=l
VH
W
Ho=H, -0
tao=t2
“H,=062_Ps2
P- Ps2
Ps2

t2
2 60 Pss=19.91kPa

5@ )
Pss
6. P=101.3kPa t=25 , ¢=100% X;=0.02kg /kg
9=40% X, =0.007kg /kg , X=0.25 25 ¢ =40%
=X-Xy
:Xl*
=X-X1'
7. N =11kg /m* h Gc=1000kg A=55m" X;=0.15kg /kg
X2=0.005kg /kg X*=0 X=0.125kg /kg
T
X1>X>X
ST=T +7T
G, X
= X, =X )+ XoIn=&
AN [(Xy=Xc)+ Xe X2]
8. n=50 70x 70cm h=0.02m p =1600kg/m’
X1=0.5kg /kg X2=0.005kg /kg X*=0 Xc=0.3kg /kg

u=2mis t=77  ¢=10% N  (X-X')

G=A- h- p =0.7x 0.7x 0.02x 1600=15.68kg

— t=77  ¢=10% H
135
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tw=38 rw=2411kJkg
50, =(2.83x107° +4.56x 10 H )(t + 273)

1+H
p:
Ly

G'=pu
a = 0.0143(G")°*®

N =2(t-t,)
r.W

- _ G X, —X¢
N A N,
¢ 28 X Xe
A N X,
S.T=T +7T
9. =20  Ho=0.01kg/kg , =120 =70  H»=0.05kg/kg ,
0 1=30  w;=20%,8 ,=50  W,=5% C,=15kJ(kg- ) G,=53.5kg/h
Q =0
1V
2 Qp
3 Qo

LA™ H. 4 Ty My
e Ou

k- 1.1 '-ﬁl'l.'ﬁllr. #y

1 X, =
1-w,
X, = 2
1-w,
G. =G,(1-X,)
W=GC(X1—X2)
w w
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(2) I 1= (1.01+ 1.88H 1)t1 + 2500H 1
| 0= (1.01+ 1.88H o)to + 2500H 0
QP =V (I 1= I o)

(3) I,=(1.01+188H,)t, + 2500H

i2 :(Cps+CpLX2)62
Iy =(cps+chX1)6l
QD =V (|2_|1)+Gc(i2_i1)

10 P=100kPa w:=0.5 w,=0.01 G=20kg/s t;=25
Ho=0.005kg /kg t,=50 ¢ 2=60%
1V
2 1
3N
1 X, = a
1-w,
X, =2
1-w,
G. =G(1-x,)

—_— t2:50 () 2:600/0 H2

V =Gc(x1_xz)
HZ_Hl
V=V 1+H,
2

1.=1,
1.01+1.88H,)t, + 2500H, = (1.01+1.88H,)t, + 2500H,,

. 1.01+1.88H,)t, + 2500(H, — H )
o 1.01+1.88H,

11 P=100kPa w;=0.20 w,=0.01 G=1.75kg/s t=20 two=16 ¢ 2=70%
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1 $4=120 V n
2 t1=120 ¢ 2=70% ;=100
© s=70% vV on
1 X, =
1-w,

X, =2

1-w,
Ge =G(1-x,)

W =G (X, -X,)

1—H Ho Hx t

V = x 1+H,
Hz_ 0
t, -t
,r.l: 1 2
tl_tO
2
to t1=120 t t3=120 {4
> § > +——— +——
Ho H. H. (P4=70%
(P2=70%
I—H
H,=0.0615kg /kg t,=51
=—x 1+ H,
(H4_Ho)
77:('1_'2')"'('3_'4')
(|1_|0)+(|3_|2)
Ho=H,  .1,—1,=(1.01+1.88H)(t,~t,)
H,=H, o 1,—1,=(1.01+1.88H,)(t, —t,)
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|, =(1.01+1.88H ,)t, + 2500H,
o1, =1, =(1.01+1.88H,)(t, —t,)
|, = (1.01+1.88H ,)t, + 2500H,
ol,—1, =(L01+1.88H,)(t, —t,)

_ (LO1+1.88H )(t, —t,) + (L.01+ 1.88H,)(t, — t,)
(1.01+1.88H ,)(t, —t,) + (1.01+1.88H ,)(t, — t,)

12 V =08V  Hg=0.0033kg /kg to=16

=67 H,=0.03kg /kg Gi=1500kg  /h wi=0.47 w,=0.05

Ll
Fan

Hz - H1
1 Q n
-1, =(1.01+1.88H ,)t, + 2500H
|,=1,=(1.01+1.88H)t, + 2500H ,
~Q =V (I,—1y)
V=V 1+H,
2 S5H=Ho+4H,
H

m

I, =1,

- 1.01+1.88H )t, +2500x H = (1.01+1.88H,)xt, + 2500x H ,
t.  Q

139
www . kaoyancas.net



~N oo o b~

2005.6

WWW

.kaoyancas.net

25

m/s

m/s

Re=1600 A=

Re

10

R XD Xw

|
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h
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(18 )

3mm 1.:=25m @ 60x 3mm 1,=80m
A 0.025 A Z=11m

H.=30-6x 10°q, He. m q m/s
L) m'/h
2 2m
x I'} =
AN
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20
¢54x 2 mm
120 30 60
4000 kg / h 5000 / m2- K
10000W / m2. K 0.0004m2. K / W
1.9 kJ / kg- K
2204 kJ / kg
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17
A A
Y1= 0.05 y=0.4x 95%
14 0.2m
A y, = 0.06
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20

o = 247 150 kmol/h 0.4
xp =0.97 xy = 0.02
1.5

0.97
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2006.3
>
25
20
mPas m/s
Re

F X g %X X
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H____ o___ tw ta
18 )
49kPa 9.8kPa
8m 20m( ) 50mm 0.02
800kg/m’ He=20-1.12x10°q’ (He--m @, --m'/s)
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17
10 90

@ 25x 2.5mm 100w/m’. T=120
10000w/m’. 45kg/h
Cp=1.01KJ/Kg.
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n =0.9 y=2X

L/G=1.2 L/G

X',=0.0005,

www . kaoyancas.net

min

Hos=0.9m
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NT:OO

F—
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Xo
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F=1kmol/s, x~=0.2 (mol%,
D=0.3kmol/s, x,=0.6, R=1.2Rn,

Xu
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1 1~3 8-~15
2 004 05
3
4
5
6
7
8
9
10
11

1) He'=A Z+A p/p g+ 8A liay/(Tt “gdy")+ 8N 1oy ?/(t “gd,”)

= 11+8x 0.025x (25/0.064°+80/0.054°)x qy%/(1t ?x 9.81) = 11+4.08x 10°qy”
He=30 6x 10°q?

He = He Qv = 4.34x 10°m%¥s=15.6 m*h

2 2m He = 11+4.08x 10°qy®> He=He ov = 4.11x 10°m%s=14.78 m*h

(4.34-4.11)/4.34=5.4%

1 Q=0 = GpCplt, —t,) = %leOOx (60— 30) = 6.33x10"W

4
_Q_ 6330 yog7kg/s=103.4kg/h

G =7~ 2204 x10°

— 1 _ 2
2 K= 1 51 1 =371.5W/m
—+—(—-+0.0004)
10" 50 500

t,—t 60— 30
At =—2—1 - = 73.
mT L T-t | 120-30 3.9

In
T-t, 120-60

4
A Q 6310t
KAt, 3715x73.99
_ A = 2.30 =13.58m
7d 3.14x0.054
tz _tl
3 Q = qusz (t2 _tl) = KA?
—h
In——=
T-t,
Tt KA Ty 120-30 109-30
T-t, Q.C,  T-t, 120-60 109-t,
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1 x=0, Yy, = (1-0.95)x 0.05=0.0025

L
G

—~

)

min

_yllm—O

min

L L
= =14—
s 4G

E 0.4
L

T 0532
1

MG
L
1

T 1-0.752

Noe =

In[(1—

In[(L—O.

=NV - 04x095=0.38

=1.4x0.38=0.532

——=0.752

L

1
1-0.95

752) +0.752]=7.02

H=HOGNOG=O.2X 7.02=1.40m

2 H Noc

Y, —mx, Y-

mx,

005 0.6 " —0.003

Y, —MX, Y, =X,

00025 vy,

F(Xe —%y) _150x(0.4-0.02)

1 =0, x=0.4, D= =60kmol/h
Xp — Xy 0.97-0.02
W=F-D=90kmol/h
2 ye=xs=0.4, X, = 04 =0.213
247-147%x04
R =Xo"Ye_ 0.97-04 _ 5 04 r=1.5Rn=4.56
Y.— X, 04-0.213
y= 4'—56X+w20.820x+0.1745
556 556
y= RD x— WX, _ 456x60 ‘ 90x 0.02
(R+)D-F (R+1)D-F 556x60-150 5.56x60-150

=1.490x-0.00980

3 yi=%=0.97, X =

v, ~ 0.97
2.47-147y, 2.47-1.47x0.97

=0.929,

y.=0.820x 0.929+0.1745=0.936
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O 0 3 O L AW N

—
(=]

He'= (z2-z1) + (p2-p1)/(pg) + X Hr
=8+(49-9.8)x10°/(800%9.8 1 )+8*\ *I*qy*/(T1 **g*d)
=13+1.058qy’
He = 20-1.12*10°qy”
He = He' qv = 5.67%107 m’/s
He =20-1.12*10°qy* = 16.4 m
Pe = Heqyp g = 16.4*5.67%107*800*9.81 = 730 W

45
1 Q= quC p2(t2 - tl) = 3600

x 1010% (90— 10) = 1010W

1

- @ @ @ @O @= 2
K= 1 %5 1 79.4N I m
7+ -
10* 20100
t,—t 90-10
At = 2 1 = = 1 7
n ST T 120-10 C O-°
In In
T-t,  120-90

A - Q _ 1010 oo0me

KAt,, 79.4x61.57
) _ A _ 0.207 _263m

d 3.14x 0.025

I =0, y, =(1-0.9)x0.01=0.001
(L)min _ T Ys _ mn=2x0.9=18
G y,/m-0
Lo1ohy,, —12x18-216
G G
mG_ 2 _ 0.926
L 2.16
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1 mG. 1 mG
N.. = In[(1- +
oG I_E [( |_ ) 1_77 L ]
L
1 1
=————In[(1-0.926) +0.926]=6.9
1-0.926 1-0.9
H=HoGNoGg=0.9% 6.9=6.2m
2 Ne m_G y, —mx, _ yl._ mle'
L yz - sz yz —mX2
10= 0.01-2x 0.0005 y2' =0.0019, 7= 1_y_2 1 0.0019 _ 081l
y,'—2x 0.0005 Y: 0.01
3x0.2
1 g=1, x=0.2, =————=0.429
a Ye = 14 2x02
R =Xo~Ye _ 0.6-0429 0.75, R=1.2x 0.75=0.9

"y, -x, 0429-0.2
2 S=V=(R+1)D=(0.9+1)x 0.3=0.57kmol/s

Fx; -Dx, _0.2-0.3x0.6
F+S-D 1+057-03

3) X, = = 0.0158

Wx,, RD+F X_WxW

vV vV S S
_09x03+1 _1+057-03

0.57 0.57
4) NT=eo  R=0.75 S=(R+1)D=1.75x 0.3=0.525

x 0.0158 = 2.228x — 0.0351

_Fx. -Dx, _ 0.2-03x06

X,y = - = 0.01633
F+S-D 1+0525-03
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